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Complex Numbers S0 Important 1Marks Questions With Answers (Book Back and Creative)

12th Standard

Maths

in+in+1+in+2+in+3 is
(@o @®m 1 (©-1 (@i

The value of 27113:1 (’Ln + in_l) is

(@) 1+i ()i () 1 (d) 0

The area of the triangle formed by the complex numbers z, iz and z+iz in the Argand’s diagram is

1 3
(@ —|z> M 1212 (© =|z> (@ 2|22
2 2

The conjugate of a complex number is . Then the complex number is

72— 2
(@) - (b) — © —— (@ -
1+ 2 1+ 2 1 — 2 17— 2
A\ 3 . 2
3 3 4
If z= (\/ +Z) ( Z2+ ) , then |z| is equal to
(8 + 61)

@0 (1 ()2 (d3

If z is a non zero complex number, such that 2iz? = Z then |z| is

1
(a) 5 ()1 (92 (d3

If |z-2 +1 | <2, then the greatest value of |z| is

@ +v/3—-2 () /3+2 © /5—-2 (d) /5+2
If |z — 2| = 2, then the least value |z| is

(@ 1 ()2 ()3 (d5

If |z| =1, then the value of if is
1+2

_ 1
@z (b2 () — (@1
z

The solution of the equation |z| -z=1+ 2iis

(@ 2—2i B —3+2% (©2-30 (@ 2+3

If |z1] =1, |22] =2, |2z3] =3 and |9z125 + 42123 + 2zo2z3| = 12, then the value of |z{+z5+23]| is
@ 1 (b2 ()3 (d4

If z is a complex number such that z € C\R and z + %ER, then |z| is

@O0 (b1 (2 (@ 3

z1, Zo and z3 are complex number such that z; + zo + z3= 0 and |z;| = |2z2| = |z3| = 1 then z;2 + z5° + z3

3

is
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@3 ®2 (g1 (do

14) If Z—i is purely imaginary, then |z| is
@5 1 (©2 (@3
15) If z = x + iy is a complex number such that |z+2| = |z-2]|, then the locus of z is
(a) real axis (b) imaginary axis (c) ellipse (d) circle
16)
The principal argument of ——— is
—1+1
—bm —27 —3m —T
@ —— b — () — (d) —
6 3 4 2
17) The principal argument of (sin 40°+i cos 40°)° is
(a) -110° (b) -70° (¢) 70° (d) 110°
18)  1f (1+1)(1+2i)(1+3)...(1+ni) = x + iy, then 2 - 5 - 10... (1+n?) is
(@ 1 ()i (¢) x?+y? (d) 1+n?
19) If w # 1 is a cubic root of unity and (1 + w)7 = A + Bw, then (A, B) equals
(@ (1,00 (b) (-1,1) (o) (0,1) (d) (1, 1)
29 Th incipal t of th 1 b M
e principal argument of the complex number 10-iv3) is
27 s o s
@Z I ©3I (@37
21
) If & and 3 are the roots of x?>+x+1 = 0, then a0 ,32020 is
(@ -2 (b) -1 ()1 (d 2
22) 3
™ .. m\*
The product of all four values of (cos§ + zszn§> is
(@ -2 (b -1 (c)1 (d 2
23) 1 1 1
If w 75 1 is a cubic root of unity and |1 —w2 -1 w2 = 3k, then k is equal to
1 w? w’
(@ 1 (b -1 (0 /3¢ (d) —+/3:
24) 1+ /3 \ "
The value of (—_) is
1—+/3i
.27 CA4r .27 A4
(@) cis— (0) cis— () —cis— (d) —cis—
3 3 3
25) , z+1 w w?
T
If w= cis?, then the number of distinct roots of | w zZ+ w? 1 =0
w? 1 z+w
(@1 (2 (93 (d4
26) If v/a + b =x + iy, then possible value of v/a — b is
(@) x>y  (b) /22 +y?Z (O x+tiy (d) x-iy
27) If, i = -1, then i' +i% +i® + ...+ up to 1000 terms is equal to
@ 1 (® -1 (i (d o
28)

Ifz= cos% +1 sin%, then



@ Izl =1,argll) =5 () |zl = Larg@) =5 (© |z] - L argly - 2 (A |z| =§,arg(z)=tan-1(
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2i \"
The least positive integer n such that (I—_il) is a positive integer is
(@ 16 (b) 8 (o) 4 (d 2
—_— 1 —— -
Ifz= 1—cosf—isinf’ the Re(z)
@0 (B 5 (I coty (@ 1 cotd
The complex number z which satisfies the condition Ht—i‘ =1 lies on
(@) circlex?+y?>=1 (b) x-axis (c) y-axis (d) the lines x+y = 1

If z = a + ib lies in quadrant then % also lies in the Il quadrant if
(@ a>b>0 (b) a<b<0 (¢) b<a<0 (d b>a>0

1+€71‘0 _

1+eif

(@) cosB +isin® (b) cosO -isin® (c) sin®-icos® (d) sin® + icosd
If z0 = cos% + isin%, then z;, z ..... Zg iS

@ 1 (b) -1 (i (d) -

If x = cosB + i sinB, then the value of xn+w—1n is

(@A) 2cos® (b) 2isinnd (c¢) 2isinn® (d) 2i cos nbd

(cosf+isinf)®

(cosB—isind)®

(@) cos 116 -isin 116  (b) cos 110 + isin 118 () cos® +isin®  (d) cos%” + ism%@

(L))
1+iy/3 —

@2 ®2 (1 (@1

The modular of

(cos45° +isin45°)? (cos30° —isin300)
1S

The value of a0
c0s30° +1isin30

@ 14 ) LB @ -2l @ Ly

VS 1
2 2 2 2

If x=cos 0 +1sin 0, then x™ + miis

n R

(a) 2cosn® (b) 2isinn® (c) 2" cos® (d) 21 sind

If z1, zo, z3 are the vertices of a parallelogram, then the fourth vertex z4, opposite to z, is

(@) z; + 25 - 2o (b) z; + 25 - 23 (c) z1 + 25 - 23 (d) zq - 2z9 - 23

If x, = cos (%) + istn (%) then xi, Xp X3 ... X, is

@ - () -2 (¢) -1 (d O

4430 1
If 2z = 53, then z'* =

1 27 11 97 11, 27 11, 27
a) — — 20 b) === — £L c) —— 0 d = 2L
@ 55— 51 B 55 —51 @ 5t A 55+ 5l

If the cube roots of unity are 1, w, w? then 1 + w + w? =
@1 (M o (¢ -1 (d) w

Let z, w be complex numbers such that Z + 4w = 0 and arg (zw) = 7 then arg z =
@2 (mF ©F @@=

(1+i)z—2i  (2—3i)-y+i
3+i 3—i

If = ithen (z,y) =

Sl



@ 3,1 (b (3,-1) () (-3,1) (d) (-3, -1)
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Let z be complex number with modulus 2 and argument —2T then z =

3
@ —1+iy3 (B EV8 ) 1 -iy3 (@ B
The equation | z-1i | + | z+1 | = k represents an ellipse if k =

@1 (2 ()4 (-1

6t —3i 1
If| 4 3i —1|=x+ iy then
20 3 1

(@ x=3,y=1 () x=1,y=3 (¢ x=0,y=3 (d) x=0,y=0

r_

If = cos 3

z'sin%thenz2—z+1:
@ -2i (M 2 (c)o (d -2

z—061

—Tei| = 1 lie on the

All complex numbers z which satisfy the equation

(a) real axis (b) imaginary axis (c) circle (d) ellipse





